Week 1 - part 4: Generalized Integrate-and-Fire Model
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Neuronal Dynamics - 1.4. Generalized Integrate-and Fire

Spike
emission

Integrate-and-fire model

LIF: linear + threshold



Neuronal Dynamics - 1.4. Leaky Integrate-and Fire revisited
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Neuronal Dynamics - 1.4. Nonlinear Integrate-and Fire
LIF
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Neuronal Dynamics - 1.4. Nonlinear Integrate-and Fire
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onlinear Integrate-and-fire Model
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Nonlinear Integrate-and-fire Model LN
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Nonlinear Integrate-and-fire Model LN
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Nonlinear Integrate-and-fire Model LN
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Nonlinear Integrate-and-fire Model
Where isthe firing threshold?
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Homework!

Neuronal Dynamics - Homework 1.3



